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Relação do aço

P1 P2 P3

P4 P5 P6

P7 P8 P9

P10 P11 P12

P13

AÇO
N DIAM

Q
UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 448 118 52864

2 5.0 494 29 14326

3 5.0 38 158 6004

4 5.0 30 29 870

CA50 5 10.0 6 290 1740

6 10.0 74 297 21978

7 10.0 12 255 3060

8 10.0 8 270 2160

9 10.0 6 300 1800

10 10.0 42 201 8442

11 12.5 6 209 1254

12 12.5 6 297 1782

Resumo do aço

AÇO
DIAM C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

10.0

12.5

5.0

391.8

30.4

740.7

265.7

32.2

125.6

PESO TOTAL

CA50

CA60

297.9

125.6

Vol. de concreto total (C-30) = 5.44 m³

Área de forma total = 77.85 m²
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